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Currency 2

Currency 1

=  Exchange Rate

€ (Euro)

$ (USD)

=  0.836

€ 8.36

$10 

=  0.836

$ (USD)

€ (Euro)

=  1.196
$ 10

€ 8.36

=  1.196

Invert the num/den to get the exchange rate going the other way.

For Example:



CHTS and each state measures harvest differently so, 

we need an exchange rate to compare the systems.

• Calibration Ratios are like Exchange Rates

Currency 2

Currency 1

=  Exchange Rate

State Data Collection Program

CHTS
= Calibration Ratio



AL Snapper Check (??)

CHTS for AL (1,122,662) 
=  0.4875

AL Snapper Check (1,122,662)

CHTS for AL (2,302,896)
=  0.4875

For Alternative 1, putting the value of CHTS units into AL’s currency: 

AL Snapper Check (1,122,662)

CHTS for AL (??) 
=  0.4875

Results in a new value in CHTS units. 

(Divide by the exchange rate instead of multiplying)



Because each pair of currencies has its own exchange rate 

between them, summing the units from different currencies 

does not correspond to the sum of units in a single currency.

€ 8.36

$10 

=  0.836

¥ 1,086 (Yen)

$10 
=  108.6

1094.36 units 

≠ 

¥ 547.18 + € 547.18

≠

$20

8.36 

+

1,086

Throughout the document you’ll see the sum of 5 different 

currencies however, this is displayed for comparison purposes 

only and does not serve as a valid ACL value



AL Snapper Check (547,298)

CHTS for AL (1,122,662) 
=  0.4875

MS Tales ‘n Scales (58,195)

CHTS for MS (151,550) 
=  0.3840

FL GRS (2,028,641)

CHTS for FL (1,913,451) 
=  1.0602

LA Creel (865,207)

CHTS for LA (816,233) 
=  1.06

TX Creel Survey (265,105)

CHTS for TX (265,105) 
=  1.00






